Transfers Report

This report contains the transfers results.

Contest Name

Ward 5 - Rosyth

Valid Votes

Positions to be Filled

1,213

4,848

Stage 1

Quota

| Candidate Name | Affiliation | No. of Ballot Papers |
|-----------------------------|--|----------------------|
| Brian John GOODALL | Scottish National Party (SNP) | 1,085 |
| Andy JACKSON | Scottish National Party (SNP) | 826 |
| Teresa Martin LITTLE | Scottish Liberal Democrats | 316 |
| Stephen LYNAS | Alba Party for independence | 192 |
| Alastair Amundsen MACINTYRE | Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life | 69 |
| Fiona MCOWAN | Scottish Greens - Think Global Act Local | 250 |
| George Charles MORTON | Scottish Libertarian Party | 23 |
| Grant THOMSON | Scottish Conservative and Unionist | 813 |
| Andrew VERRECCHIA | Scottish Labour Party | 1,274 |
| | Total | 4,848 |

Candidate Andrew VERRECCHIA Elected with 1,274 votes, being in excess of the quota of 1,213

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Andrew VERRECCHIA

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------|----------------|-------------------|
| Transfer to Brian John GOODALL | 71 | 0.04788 | 3.39948 |
| Transfer to Andy JACKSON | 78 | 0.04788 | 3.73464 |
| Transfer to Teresa Martin LITTLE | 371 | 0.04788 | 17.76348 |
| Transfer to Stephen LYNAS | 41 | 0.04788 | 1.96308 |
| Transfer to Alastair Amundsen MACINTYRE | 40 | 0.04788 | 1.91520 |
| Transfer to Fiona MCOWAN | 103 | 0.04788 | 4.93164 |
| Transfer to Grant THOMSON | 241 | 0.04788 | 11.53908 |
| | | | |
| No further preference | 315 | 0.04788 | 15.08220 |
| Not transferred due to rounding | | | 0.00088 |
| | Total | | 61.00000 |

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of George Charles MORTON

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------|----------------|-------------------|
| Transfer to Brian John GOODALL | 1 | 1.00000 | 1.00000 |
| Transfer to Andy JACKSON | 1 | 1.00000 | 1.00000 |
| Transfer to Teresa Martin LITTLE | 2 | 1.00000 | 2.00000 |
| Transfer to Stephen LYNAS | 2 | 1.00000 | 2.00000 |
| Transfer to Alastair Amundsen MACINTYRE | 6 | 1.00000 | 6.00000 |
| Transfer to Fiona MCOWAN | 4 | 1.00000 | 4.00000 |
| Transfer to Grant THOMSON | 6 | 1.00000 | 6.00000 |
| Transfer to Andy JACKSON | 3 | 0.04788 | 0.14364 |
| Transfer to Teresa Martin LITTLE | 2 | 0.04788 | 0.09576 |
| Transfer to Alastair Amundsen MACINTYRE | 1 | 0.04788 | 0.04788 |
| Transfer to Fiona MCOWAN | 1 | 0.04788 | 0.04788 |
| Transfer to Grant THOMSON | 4 | 0.04788 | 0.19152 |
| | | | |
| No further preference | 1 | 1.00000 | 1.00000 |
| No further preference | 3 | 0.04788 | 0.14364 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 23.67032 |

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Alastair Amundsen MACINTYRE

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|----------------------------------|-------------------------|----------------|-------------------|
| Transfer to Brian John GOODALL | 3 | 1.00000 | 3.00000 |
| Transfer to Andy JACKSON | 2 | 1.00000 | 2.00000 |
| Transfer to Teresa Martin LITTLE | 11 | 1.00000 | 11.00000 |
| Transfer to Stephen LYNAS | 7 | 1.00000 | 7.00000 |
| Transfer to Fiona MCOWAN | 9 | 1.00000 | 9.00000 |
| Transfer to Grant THOMSON | 23 | 1.00000 | 23.00000 |
| Transfer to Brian John GOODALL | 2 | 0.04788 | 0.09576 |
| Transfer to Andy JACKSON | 2 | 0.04788 | 0.09576 |
| Transfer to Teresa Martin LITTLE | 11 | 0.04788 | 0.52668 |
| Transfer to Stephen LYNAS | 5 | 0.04788 | 0.23940 |
| Transfer to Fiona MCOWAN | 4 | 0.04788 | 0.19152 |
| Transfer to Grant THOMSON | 5 | 0.04788 | 0.23940 |
| | | | |
| No further preference | 20 | 1.00000 | 20.00000 |
| No further preference | 12 | 0.04788 | 0.57456 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 76.96308 |

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Stephen LYNAS

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|----------------------------------|-------------------------|----------------|-------------------|
| Transfer to Brian John GOODALL | 47 | 1.00000 | 47.00000 |
| Transfer to Andy JACKSON | 50 | 1.00000 | 50.00000 |
| Transfer to Teresa Martin LITTLE | 18 | 1.00000 | 18.00000 |
| Transfer to Fiona MCOWAN | 22 | 1.00000 | 22.00000 |
| Transfer to Grant THOMSON | 17 | 1.00000 | 17.00000 |
| Transfer to Brian John GOODALL | 5 | 0.04788 | 0.23940 |
| Transfer to Andy JACKSON | 6 | 0.04788 | 0.28728 |
| Transfer to Teresa Martin LITTLE | 13 | 0.04788 | 0.62244 |
| Transfer to Fiona MCOWAN | 2 | 0.04788 | 0.09576 |
| Transfer to Grant THOMSON | 1 | 0.04788 | 0.04788 |
| | | | |
| No further preference | 47 | 1.00000 | 47.00000 |
| No further preference | 19 | 0.04788 | 0.90972 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 203.20248 |

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Fiona MCOWAN

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|----------------------------------|-------------------------|----------------|-------------------|
| Transfer to Brian John GOODALL | 92 | 1.00000 | 92.00000 |
| Transfer to Andy JACKSON | 72 | 1.00000 | 72.00000 |
| Transfer to Teresa Martin LITTLE | 54 | 1.00000 | 54.00000 |
| Transfer to Grant THOMSON | 13 | 1.00000 | 13.00000 |
| Transfer to Brian John GOODALL | 10 | 0.04788 | 0.47880 |
| Transfer to Andy JACKSON | 14 | 0.04788 | 0.67032 |
| Transfer to Teresa Martin LITTLE | 46 | 0.04788 | 2.20248 |
| Transfer to Grant THOMSON | 4 | 0.04788 | 0.19152 |
| | | | |
| No further preference | 54 | 1.00000 | 54.00000 |
| No further preference | 36 | 0.04788 | 1.72368 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 290.26680 |

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Brian John GOODALL

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Andy JACKSON | 1,090 | 0.01559 | 16.99310 |
| Transfer to Andy JACKSON | 57 | 0.00074 | 0.04218 |
| | | | |
| No further preference | 93 | 0.01559 | 1.44987 |
| No further preference | 19 | 0.00074 | 0.01406 |
| Not transferred due to rounding | | | 0.00380 |
| | Total | | 19.21344 |

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Teresa Martin LITTLE

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Andy JACKSON | 57 | 1.00000 | 57.00000 |
| Transfer to Grant THOMSON | 117 | 1.00000 | 117.00000 |
| Transfer to Andy JACKSON | 42 | 0.04788 | 2.01096 |
| Transfer to Grant THOMSON | 108 | 0.04788 | 5.17104 |
| Transfer to Andy JACKSON | 9 | 0.01559 | 0.14031 |
| Transfer to Grant THOMSON | 2 | 0.01559 | 0.03118 |
| Transfer to Andy JACKSON | 1 | 0.00074 | 0.00074 |
| | | | |
| No further preference | 227 | 1.00000 | 227.00000 |
| No further preference | 293 | 0.04788 | 14.02884 |
| No further preference | 17 | 0.01559 | 0.26503 |
| No further preference | 10 | 0.00074 | 0.00740 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 422.65550 |

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Grant THOMSON

1,006.67739

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Andy JACKSON | 85 | 1.00000 | 85.00000 |
| Transfer to Andy JACKSON | 63 | 0.04788 | 3.01644 |
| Transfer to Andy JACKSON | 7 | 0.01559 | 0.10913 |
| | | | |
| No further preference | 904 | 1.00000 | 904.00000 |
| No further preference | 300 | 0.04788 | 14.36400 |
| No further preference | 12 | 0.01559 | 0.18708 |
| No further preference | 1 | 0.00074 | 0.00074 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 1,006.67739 |